Câu 2:
[2D2-4.2-1] (ĐỀ THAM KHẢO BGD&ĐT NĂM 2017) Tìm đạo hàm của hàm số 
[image: image1.wmf]log

yx

=

.
A. 
[image: image2.wmf]1

y

x

¢

=



B. 
[image: image3.wmf]ln10

y

x

¢

=



C. 
[image: image4.wmf]1

ln10

y

x

¢

=



D. 
[image: image5.wmf]1

10ln

y

x

¢

=


Lời giải
Chọn C
Áp dụng công thức 
[image: image6.wmf](

)

1

log

ln

a

x

xa

¢

=

, ta được 
[image: image7.wmf]1

ln10

y

x

¢

=

.
Câu 18:
[2D2-4.2-1] (MÃ ĐỀ 110 BGD&ĐT NĂM 2017) Tính đạo hàm của hàm số 
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Lời giải
Chọn C
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